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Botany: Respiration in Plants, Zoology: Chemical coordination & integration
Chemistry: Organic chemistry- some basic principles & techniques, Physics: Mechanical Properties of Fluids

1. If tripalmitin is used as respiratory substrate then
the RQ value will be
1)0.7
2) 1.4
3)1.0
4)0.9

2. Yeast poison themselves to death when
concentration of alcohol reaches about
1) >50%
2) 30%
3) 13%
4) 7%

3. Pyruvate dehydrogenase catalyses oxidative
decarboxylation of pyruvic acid in the presence
of
1) MgZ+
2) Ca?*

3) Fe?*
4) cu®

4. Which of the following carrier receives reducing
equivalents via FADH>?
1) UQ
2) Cytca
3) Cytb
4) FMN

5. Below given are some steps of glycolysis.

Substrate level phosphorylation occurs during

1) Fructose 6-phosphate — Fructose 1, 6-
bisphosphate

2) 1, 3 bisphosphoglyceric acid — 3-
phosphoglyceric acid

3) 2 Phosphoglycerate — PEP

4) Glyceraldehyde 3-phosphate — Dihydroxy
acetone phosphate

1. gewyuTELI Igemed FHAUTF NN  (LPEVSHFnBTHL I
vwetudhSHenmso RQ iy ous B meb@Eid
1) 0.7
2)1.4
3)1.0
4)0.9
2. ysosamreder OFfle) oL ujd Gurg merdl
ST eMlegld BB
1) >50%
2) 30%
3) 13%
4) 7%

3. eoumBeul  leenaml FyGaierd  (Lpedtenllemevuiied
emLIH6N &b DILO60& I 601 B Geuim
9&TTLUTSF Covagenen S allenend @Bl
1) M92+
2) Ca?*

3) Fe®*
4) cu®
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1) UQ
2) Cytcy
3)Cyth
4) FMN
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1) dysGLmerd 6-umerdBul. — ysGLmerd 1, 6-
LNeroLimero@ui
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6. Assertion (A): Vasopressin is also called as

diuretic hormone.

Reason (R): Vasopressin reduces the loss of

water in the wurine by decreasing water

reabsorption in the nephrons.

1) Both A and R are true and R is the correct
explanation of A

2) Both A and R are true and R is the not correct
explanation of A

3) Ais true but R is false

4) Both A and R are false

7. ldentify the A, B, C and D in the given diagram.
A
— B

VAv)

1) A-Hypothalamic neuron, B-Hypothalamus,
C-Portal circulation, D - Posterior pituitary
2) A-Hypothalamus, B-Hypothalamic neurons,
C-Portal circulation, D - Posterior pituitary
3) A-Posterior pituitary, B-Hypothalamus, C-
Neurohypophysis, D- Adenohypophysis
A-Thymus, B-Hypothalamus,
Adenohypophysis, D- Neurohypophysis

4) C-

8. Which one of the following hormone support the
process of red blood cells formation?
1) Oxytocin
2) Thyroxine
3) Aldosterone
4) Parathormone

9. i) Enlargement of the thyroid gland
ii) Protrusion of the eye balls
iii) Increased basal metabolic rate
iv) Weight loss
The above characters belong to the which one of
the following?
1) Addison’s disease
2) Graves’ disease
3) Acromegally
4) Dwarfism
10. The hormone that enhances cellular glucose
uptake and utilisation is
1) gastrin
2) secretin
3) glucagon
4) insulin
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i)  oiumL  aenjdang
SNH5(f 5360
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11. Which of the following represents the given
sequence of hybridization of carbon atoms from
left to right sp?, sp?, sp, sp?

1) CH2=CH-CH =CHz
2) CH3—CH=CH -CHs
3)CH=C-CH=CH:>
4)CH=CH-C=CH

12. Which of the following group contain only

electrophiles

1) BFs, NH3, H.0O

2) AICk, SO3, NO,
+ +
3) NO,,CH,,CN

0o - 4+
4) CH,,CH,,CH,

13. The IUPAC name of the following compound is
OH

NH,

O,N
CHO
1) 2-nitro-4-hydroxy methyl-5-amino
benzaldehyde
2) 3-nitro-4-hydroxy methyl-5-nitro
benzaldehyde
3) 5-amino-4-hydroxy methyl-2-nitro
benzaldehyde
4) 4-amino-2-formyl-5-hydroxy methyl nitro
benzene
14. Arrange the following compounds in the
increasing order of their acidic strength.
1) m—nitrophenol
i) m—cresol
iii) phenol
iv) m—chlorophenol
lyiii<ii<i<iv
2)ii<iv<iii<i
Jii<iii<iv<i
4)ii<iii<i<iv
15. The blue compound formed in the positive test
for nitrogen with Lassaigne solution of an
organic compound is
1) Nas[Fe(CN)sNOs]
2) Nas[Fe(CN)s]
3) Fe(CN)3
4) Fes[Fe(CN)e]s
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11. eteumeuaeunied 618 @ LOHHSI eueOLOTE SP2,
Sp?, SP, SP SFLIEHT SigmIbamelia @evrLlen s et
CaTBHBILLL auflengenuids Gnlebdmal?

1) CH2=CH-CH =CHz>
2) CH3—CH=CH-CH3s
3)CH=C-CH=CH>
4)CH,=CH-C=CH
12, Qeiteu@mld  @G@palled 6T60HLJT6H BT 60T
1" BB CBTewTL_ G|

1) BFs, NH3, H20
(2]
2) AlCI, SO5, NO,
+

+ —
3) NO,,CH,,CN

o - ¥
4) CH,,CH,,CH,

13. Werau(mid Heveweuuies IUPAC Gy

OH
NH,

0,N
CHO

1)  2-owpl Gym-4-enami grdend
SI0GeT QueIFTELIMAB(H

2)  3-opl Gym-4-enami yrdend
bl Crm GueTFTELIMAB(H

3)  5-ouiGenm-4-ewamt grden)
bl Cym GueTFTeLIMAB(H

4) 4- 910@erm-2-UmLfle0-5-enamt Jrdhen) GlLogdde0
Bl Cym GieiTF 6ot

Olg & 60-5-
Olg & 60-5-

GLog 3 60-2-

14. Yesteumid GaiomiBemen SiaUBNIT DILO6L 6UeSemLD
P BJHGD auflenguied eufleng LB SHHRLD.

1) M—empL Gy Teonmed

i) m—&yamed

iii) feormed

IV) M—gBenm@ymiiemed

lyiii<ii<i<iv

2)li<iv<iii<i

J)ii<iii<iv<i

4)ii<iii<i<iv

15. @ &flo GaFJwsdHer eundlde SHemIFaIL 6o
mPBLImmIbETar  Carmamenuied 2 (Heum@Ld
HEVHIB HeveneUUN6IT GUTUILIT(H

1) Nas[Fe(CN)sNOs]

2) Naz[Fe(CN)e¢]

3) Fe(CN)s3

4) Fes[Fe(CN)e]s
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Three liquids of equal masses are taken in three
identical cubical vessels A, B and C. Their
densities are pa, ps and pc respectively. But pa <
pB < pc. The force exerted by liquid on the base
of cubical vessel is

1) maximum in vessel A

2) same in all vessels

3) minimum in vessel C

4) maximum in vessel C

Water is in steamline flow along a horizontal
pipe with non—uniform cross—section. At a point
in the pipe where the area of cross—section is 10
cm?, the velocity of water is 1 ms* and pressure
is 2000 Pa. The pressure at another point where
cross—sectional area is 5 cm? is

1) 500 Pa

2) 1000 Pa

3) 2000

4) 4000 Pa

Water is filled in a container upto height 3 m. A
small hole of area ‘a’ is punched in the wall of
the container at a height 52.5 cm from the
bottom. The cross—sectional area of the container

is A. If % = 0.1 then v2, where v is the velocity of

water coming out of hole, is
1) 50

2) 51

3) 48

4)51.5

Two drops of same radii are falling in air with
speed 5 msL. If the two drops coalesce to form
one drop, the terminal velocity of the drop is

1) 25cms™

2) 10 cmst

3) 5v2 cms?

4)5x 4% cms™

Two tubes of same material but of different radii
are dipped in a liquid. The height to which a
liquid rises in one tube is 2.2 cm and in other is
6.6 cm. The ratio of their radii is

1)9:1

2)1:9

3)3:1

4)1:3
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FID Hlewm CBTERIL LTl HFeUniser cpetnl G
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PA, PB LOBEHID PC DGID. DUGTEO PA < PB < PC.
SOFSH]  Hoverledl  DglIGHUIe0  FHFeusHmed
CFHSLILBLD allend

1) sevest Acd &IFBLLFID

2) 616060 BevVaSTB6MeVID G Tdflwimes

3) sevett Cob GHemBHSHLLFLD

4) seveit Ced oFHLLFID

Fmer  GBISGS0uBHCHTHBBID  CdBTemwiL 6
SeLIOL L Gl euflwims B Brmell gL L &dleo
® 6o, GLTUIe GnIsh@&06a 19eT LgliLene] 10
cm? o1 BHHGD BL 560, Bfler Gausnd 1 ms™
B SIS 2000 Pa. @mise Geul (b ugd 5
cM? o458 BHHE LD BEBIH LisTeNuled SIIpHHD
1) 500 Pa
2) 1000 Pa
3) 2000
4) 4000 Pa

@ OsmeTdevaied 3 M o WIFID 6UM] FHewTemiy
Briutu@apg.  Osmetseveles  gieufled  &H6
Bmba 52.5 M 2_wgsHHed ‘a’ uGHulsd Fpslws
Hlener Gum_ LGS B O\ITeiTEH6V60T 65T
GBIBSG6L (B uGH A. % = 0.1 a6 V2, @IS
vV eaaiugl glemenuledmbg  GeuefCupid  pBiflesr
Gousid,

1) 50

2) 51

3) 48

4) 51.5

967 SwoLw Graw® Sefsst 5 mst

GousgHgleo  ammpled  allpdeaimser.  Syeni(
Cam_BaEpd  @Qalmeanihd @  SHlellenul
® (Heurddlenmev, glefluiler (penerul Geausmsid

1) 25cms™

2) 10 cms?

3) 5vV2 cms?

4) 5 x 43 cms™

@Gy Qummelear @rewiG GHWTUIS6T SLEITEL
GleusiGoumy DI RISHEIT 0 FHreusdhslev
CapTUISEILGHSBT. @ GHLTulled @H Hyeuld
® Wb 2wy 2.2 CM wBepTeamisd 6.6 ¢cm
Slaumslent LImISeeln el sid
1)9:1
2)1:9
3)3:1
4)1:3
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NEET MICRO TEST 9 (19.11.2024)

20x4=80 MARKS

Botany: Respiration in Plants, Zoology: Chemical coordination & integration
Chemistry: Organic chemistry- some basic principles & techniques, Physics: Mechanical Properties of Fluids

1. Answer: (1)
2. Answer: (3)
3. Answer: (1)
4. Answer: (1)
5. Answer: (2)
6. Answer: (4)
7. Answer: (2)
8. Answer: (2)
9. Answer: (2)
10. Answer: (4)

11. Answer: (4)

CH,=CH-C=CH
\! 11

2

sp’  sp’ sp sp

12. Answer: (2)
AICls, SOs are neutral electrophiles, NO3 is a
charged electrophile

13. Answer: (3)

CHO
5-amino-4-hydroxy methyl

2-nitro benzaldehyde

14. Answer: (3)
m-cresol has electron releasing group. Hence
it decreases the acidic strength.
Both nitro and chloro are having —I effect.
But nitro is a stronger —I group

15. Answer: (4)
6CN™ + Fe™? — [Fe(CN)s] ™ 3[Fe(CN)s] ™
4Fe"® —%5 Fe,[Fe(CN)g; xH0
(Prussian blue)

Solution

16. Answer: (2)

Because masses as well as cubical vessels
are same.

17. Answer: (1)

Using, a;v; = ay, v, we get,
a,v 1

v,=—1=10x==2ms"
a, 5

Using B theorem we get

p 2 p 2

2000 1. P, (2
e S +
" 1000 2 1000 2
P, 4
1000 2
i.e, P, =0.5 x 1000 = 500 Pa.
18. Answer: (1)

Using, v° =

1.e.,2.5=

_ 2x10x2.475 _
1-(0.1)°
19. Answer: (4)

. 2
Terminal speed v oc 1

: V_2 e :(2”3r)2
(21/3r)2

213
V,=V,——5—=5x2
r

=5x4"3 cms’!

20. Answer: (4)

=

As hocl,we get, r—‘=—2=ﬂ=3
r , h 22

e, ri:rn=1:3
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